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BASED ON SUBRIB solutions
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DP writing recipe (required)
① Characterise •☒Tsa = function ( sub-pb-opt.si)⇒D&c

⑦ recurrence of the objective CGIpit] -ÉÉ[suspE
2⑨ visual table of PB-soBPB dependencies .

③ bottom up computation : solve suspb in the table
(Pseudocode) in what order?

④ Trace solution (if necessary)
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task : cut wire for optimal total value .
Greedy? n=9

; 6+3
value 11.5

31-3+3 → 13-5Froot £+4y → 8+6.4
OPTSOL
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h=H Greedy 5+51-1 ⇒ 17

• 41-41-3 ⇒ 17.3
OPTBOL



⑦ msn.e.ie#ei?.e7leupthsbeisng.wi-.K↳ he

--

I
OPTSOL

&
OPT

80 fgthb forbugthh
DNC

works by exchange op

⑦ Dotbjectve recurrence input-n
search

Cfn] = ¥# first length (a) →sabpbb

ma☒{ + c[n--e⑨ }
I :{KEN valuer

added
↳
best we can do for input



ZBO Gasps table dependencies . : unidim

@
-lol←④☒*.d-Max_✓m original

⑧bottom-up computation : solve all problems in table
order : left→ tonight
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torn .=1:n?⃝M length¥1k
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best-k =-KL

(a) =bestsaid -⇒ best - k ✗ what cut K achieves obj CED

④Trace Solution * add in pseudocode
sesame input as]= the choice made

a

-Print solution ( n)

output k= SAD ⇒ lk , he[ Print solution (n- lk)
undless info
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③ bottomup comp f-→ R

eco) = 0

For n=1 : na?⃝-
input out

init : best _→• bestie -1

For K =L : last deu.am En

if fttccn-die] < best) then best- Hea-da]" {best_k=k_
Cfn] - best ✗ the #of coins quin ,
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ca-mail __ttcfCfa-mail = halve
④Trace
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minimize the penalty
• assume talk = cylinder column Katt _- columns

column -1 = column n
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if path rout → aKij④→ rowm is optimal
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③ firstrow : Q1
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for &=2 : m know order matters
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Simple DPs look like not DP
.
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for n=2: Max -n Fn=Qn]
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Clack]=( 1$
for in __i : max - n
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DP①Dknapsack .

items Kaline , waists

✓↳ vz -
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2- knapsack total
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• doff us coins
,
Edteeihtsi.EE

table changes because each item
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.

ifemsetcorahukar) wusstbepartot

y chaupiepitpwitzzg
①

knapsack
Cfbjall items] ccu.io :# items uofonktt]



② tentative ? wishful thinking,
allifans -set
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CCZ , all items]=q*ac[Eye > alike}]
choose item
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